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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence, Then mark your answer sheet.

1- Before you --—-—--- to the next question, vou should take some time to make sure
yvou're happy with your answers so far.

1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—---—- ; the kids spilled food all over the
Kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) Nasco

3- We were very unhappy with the --——--- way the moving company tossed our boxes
into our new house,
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used -------—- when he said the dog was *“as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a ----—-- -- matter.
1) contradictory  2) consistent 3) colloquial 4 trivial

6- The police wondered about the man’s --—-eeue- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, ! expect Ricky to --—eeeeee
forcibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm --—----—-- . said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) convietion 4) deprivation

9- You'll have a better chance of finding that unusual word if you look it up in a/an
------ dictionary.
1) skilled 2) publicized 3) cultured 4) unabndged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to ---—----—-- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3}, or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed Killers, are pesticides used to kill unwanted plants,
Selective herbicides kill specific targets, (11) ~——--—- the desired crop relatively unharmed.
Some of these act by interfering with (12) —=e—=mmam and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground, industrial sites, railways and railway
embankments are not selective (13) ==-—=—-—- all plant material with which they come into
contact. Smaller quantities are used in forestry, pasture systems, and management of areas
(14) —mmmmmemme as wildlife habitat.

Some plants produce natural herbicides, (13) ------=--- the genus Juglans (walnuts), or the
tree of heaven: such action of natural herbicides. and other related chemical interactions. is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kill 2) kaller of 3) to kill 4) which kill



14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

The airspeed is a function of both the measured pressure difference and the air density. As was
shown earlier, the air density is a function of altitude and atmospheric conditions. To obtain the
true airspeed, the airspeed indicator would be required to measure the change in both pressure
and air density. This is not feasible for a simple instrument and therefore the scale on the
airspeed indicator is calibrated using standard sea-level air. The speed measured by the
indicator is called the indicated airspeed (IAS).

The speed measured by an airspeed indicator can be used to determine the true flight speed.
provided that the indicated airspeed is corrected for instrument error. position error.
compressibility effects, and density corrections for altitude variations. Instrument error
includes those errors inherent to the instrument itself: for example. pressure losses or
mechanical inaccuracies in the system. Position error has to do with the location of the pitot
static probe on the airplane. ldeally. the probe should be located so that it 1s in the undisturbed
freestream: in general this is not possible and the probe is affected by flow distortion due to the
fuselage or flow inclination. Unfortunately. this is not the case for the static measurement and
care must be used to position the probe to minimize the error in the static measurement. If one
knows the instrument and position errors, one can correct the indicated airspeed to give what is
referred to as the calibrated airspeed (CAS).

16- The variable conditions of atmosphere prevent us from:
1) Direct measurement of true airspecd
2) Direct measurement of indicated airspeed
3) Calculating air density for finding airspeed
4) Calculationg air pressurc for finding airspeed speed
17- Standard Sea level atmosphere is used:
1) Because it is the condition that always prevails.
2) As the basis for airspeed measurement.
3) For increasing the safety of flight.
4) Since it is easy to implement.
18- A leakage in airspeed indicator is considered to be the source of which error?
1) Compressibility
2) Density
3) Instrument
4) Position
19- Based on the passage, in which case of pitot mounting we would see the least error?
1) on the tail
2) on the body
3) under the wing
4) in front of the aircraft nose
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20- One can infere that the static pressure measurement accuracy is more sensitive to
which error?
1) Altitude
2) Compressibility
3) Density
4) Position

PASSAGE 2:

In obtaining a model. we must make a compromise between the simplicity of the model and the
accuracy of the results of the analysis. Note that the results obtained from the analysis are valid
only to the extent that the model approximates a given physical system.

The rapidity with which a digital computer can perform arithmetic operations allows us to
employ a new approach in formulating mathematical models. Instead of limiting models to
simple ones. we may. if necessary, include hundreds of equations to describe a complete
system. If extreme accuracy is not needed, however, it is preferable to obtain only a reasonably
simplified model.

In deriving such a simplified model. we frequently find it necessary 1o ignore certain inherent
physical properties of the system. In particular, if a linear lumped - parameter mathematical
model (i.e.. one employing ordinary differential equations) is desired, it is always necessary to
ignore certain nonlinearities and disturbed parameter (i.c.. ones giving rise to partial
differential equations) which may be present in the physical system. II' the effects that these
ignored prosperities have on the response are small. pood agreement will be obtained between
the results of the physical system.

We must be well aware of the fact that a linear lumped-parameter model. which may be valid
in low-frequency operations, may not be valid at sufficiently high frequency since the
neglected property of disturbed parameters may become an important factor in the dynamic
behavior of the system.

21- What does the author mean by compromise?
1) Balancing the requirements
2) Sacrifice one requirement for the other
3) Give more priority to model simplicity
4) Give more priority to model accuracy
22- The digital computer has had more impact on:
1) The validity of the model simplicity
2) Simplicity of the model with existing equations
3) Accuracy of the model parameters results with using more parameters
4) How the engineers can validate the real time compromise

23- Partial differential equation is preferred:
1) When ordinary differential equation is not available
2) When nonlinearities have to be accounted for
3) When disturbed- parameters have to be ignored
4) Because it is simpler
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24- One can say that when analysis and experiment’s results do not agree with a simple
model:
1) The model is too simple
2) the model is sulficient
3) The partial differential equation is not needed
4) The linearity of the model should prevail.
25-The response of a linear lumped-parameter model:
1) May be ignored at high frequency
2) Is not related to the frequency
3) May not be similar at different frequency
4) Should be compatible at low and high frequency

PASSAGE 3:

Pathfinder controllers do not receive an indication from spacecraft engineering data on the
status of battery, but they have determined through modeling that it should be capable of
withstanding 30-40 such cycles before performance is degraded.

Turning the computer off and allowing the battery to be slowly charged by spacecraft's solar
panels will not save the battery. but is intended to lengthen its operational life. Placing the
lander in a hibernation mode could also be done periodically in the future. but eventually
project officials will transition to operations without use of the lander battery.

26-According to the passage, turning the computer off:
1) Will save the batterv and makes battery’s operational life lengthen.
2) Intendes to make battery’s operational life lengthen but will not save the battery.
3) Will save the battery and won’t make battery’s operational life lengthen.
4) Intendes to make battery’s operational life lengthen and will save the battery.
27-According to the passage, once 40 cycles has passed:
1) The battery is upgraded.
2) The battery becomes outstanding.
3) The capability of the battery is increased.
4) No more is expected from the battery.
28- According to the passage, placing the lander:
1) Could also be done periodically in the future.
2) Is done in a hibernation mode to save battery.
3) Is designed by project official to use the lander battery.
4) Will be eventually donce in a way that it does not use the lander battery
29- According to the passage, the rate of charging:
1) Alfects solar panels’ life span.
2) Increase the length of the battery
3) Can have an impact on the battery life.
4) Helps the computer being turned off slowly.
30- According to the passage transition to solar panels will be done:
1) Nothing mentioned in this regard.
2) Before hibernation period.
3) During hibernation period.
4) After hibernation period.
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